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Tax Liability
Taxable Income

Average Tax Rate =

Cash Flow from Assets = Cash Flow to Creditors + Cash Flow to Stockholders

Operating Cash Flow Interest Paid Dividend Paid

- ANet Working Capital - Net New Borrowing - Net New Equity

- Net Capital Spending Cash Flow to Creditors Cash Flow to Stockholders
Cash Flow from Assets

EBIT Ending Net Fixed Assets

+ Depreciation - Beginning Net Fixed Assets
- Taxes + Depreciation

Operating Cash Flow Net Capital Spending

Ending Net Working Capital (CA - CL)
- Beginning Net Working Capital (CA-CL)
Change in Net Working Capital

Ending L.T. Debt Ending Equity
- Beginning L.T. Debt - Beginning Equity
Net New Borrowing - Addition to Retained Earnings

Net New Equity



ROA*b
1- (ROA*D)

Internal Growth Rate =

ROE *b
1- (ROE *b)

Sustainable Growth Rate =

Earnings Retention Ratio = b = 1 — Dividend Payout Ratio
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Reminder: In the case of frequent compounding or discounting,
divide the nominal rate (APR) by “m” and multiply period by “m”.
“m” is number of times interest is compounded/discounted in one
period. Also, annuity interval must match the frequency (m) of
compounding or discounting.

r-g

Dl
r=—+g
I:)0

Dy = Do *(L+9)"

(1+R) = (1+n)*(1+h)

Bond Value=C * 1— 1 Ak th
ror*@+r) 1+r)
P, = D11+ D22+ D33+ ........
@+r)y @+r) a+r)
P, = D, , B DB o Dn D, 1
A+t @+n? @+r) @+r)" |r-g. (@+r)"



Coupon Rate = Coupon

Current Yield = Coupon
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Operating Cash Flow = (Sales—Variable Cost—Fixed Cost—Depreciation)(1-T) + Depreciation
Operating Cash Flow = EBIT + Depreciation — Taxes

Operating Cash Flow = (Sales — OC — Depreciation)*(1-T) + Depreciation

Operating Cash Flow = Net Income + Depreciation

Operating Cash Flow = (Sales — OC)*(1 — T) + T*Depreciation

Book Value of Asset = Original Cost — Accumulated Depreciation

Original Cost — Salvage Value
n

Straight — Line Depreciation =

Net Income + Interest + Preferred Dividnd

Return on Capital = -
Debt + Common Equity + Preferred Stock
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Internal Growth Rate =

ROE *b
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Sustainable Growth Rate =

Earnings Retention Ratio = b =1 — Dividend Payout Ratio

Dividend Yield = DFt:l
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x Geometric Average +

R(T) = x Arithmetic Average
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Modified Accelerated Cost Recovery System

Property Class
Year 3-Year 5-Year 7-Year
1 33.33% 20.00% 14.29%
44.44% 32.00% 24.49%
14.82% 19.20% 17.49%
7.41% 11.52% 12.49%
11.52% 8.93%
5.76% 8.93%
8.93%
4.45%
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